PART - A : GENERAL INTELLIGENCE AND REASONING

Directions : In questions no, 1 to 9, select the |B. - CDF:CGHJ--?
related : Letters fword fnumber from  the given (A} PQR - 9T0 (B) EFT : MNO
alfernatives.
ABD : PQR D) ELN : QPR
¥, UTS : EDC - : WVIT - 2 {£) i 2
9. CUZA : HYCC - - NNJO et
A} SJTM (B} R&ST
TRMF B SMNE
(©) GFE D XYW e Lo
) TURS (D} SRMG
2, 2id oy
s . Direetions : In questions no. 10 to 18, find the ol
) (B) 29 number (lefters lword  number pair from the given
(C) 25 (D) 23 alfernalives.
& PR b 10 [(A) MNORGAFR B MEINIAS
(A} 396 (B) 576 {C] BORE (D) SOTLU
) -18 By 128
¢ 11. (A} Hergic (B) Reserved
4, Secretive - toonide s 7
Pereive : Opex : - Snida {C) Bold (D) Brave
(A) Cuteome (BY Forward i 3
(C} Hidden ) Forthright 12. (&) Chocolate H Gt Cola
5. Oxvgen - Breathe - - 7 {C) Swestrmeat (I Tee-cream
(A} Bed - Rest 13. (A) 4514 () 9{-25.
(B o - S‘I:rEl‘lg‘Lh () 1243 () 7516
() Pen -Iok 4. (A) 136~ 1410  (B) 312 - 316
(D) Diseasae - Birth o 121 — T34 (D) 891 — 61516
G, Thermometer : Heat : Barometer « 7 15. {A) 183 (B) 289
LA Humiq_:_ﬁf:g {B) Altitude (C) 143 (D} 165
(C} Temperature I:]]f} Praesure 16. (A) © (B) Gold
7. Book - Library ; - ? () Steel (D) Silodr
(A) Bouguet : Flower 17. (A} Deputy (B} Representative
(B) Ship : Fleet (C) Delegate (D) Pereon
(C) Fish : River 18. (A} 1722 (B) 1109
() Aeroplanc : Sky () 4512 (D) 3521
i SPACE FOR ROUGH WORK



¥irections : In guestions no. 19 to 21, which one st |26, The daughter of the son of the futher of my
of letters when sequentially placed at the gaps m the father's sister is to me
ren. Letler ser lete it
grven Letler zeries shall complete it 2 (A) Daughter (B} MNince
19. bhecaccasbashbebbeca (7 Aunt .._,_,{,Erj"”ﬁdi_srlur
(A) achca ). bacah 27. In this guestion, a word has been Eiver
\ELJ:MBE (D} abaaa followed by four other words, one of which
N, mbobbe el ke cannof be formed by using the lellers of the
ey B) . given word, Find this word.
L ca [ cHCa
‘_iilF 5 . " CHEMOTHERAPY
] cacae (I chabg (A) THEATHE (@) RAPED
21. A VA AV ZA V {C} HECTARE (D) MOTHER
L s T
A LB) LVAZ 28. If REEXAMINATION is written us
C) AVAZ D ZVZ4 EXAMINATIONER, how can REFORMER be
Diireetions @ In guestions no. 29 to 25, a series is written in that code ?
given, with oneltwo term(s) missing. Chovse the {A) FORREMER (B) FORMERER
correct alfernative from the given ones thaf will :
complele the series. {C) REFORMEE (D) REFROMER
a5 IBID T WA ' 29. Find out the sst among the four sels which is
R like the given =et.
(A W B P
- i zet (45, 64, T8
o W I E i :
i : (A) 13, 28 44 (B 17,25 42
d: =F 7 7
>3 1 e (Cy 16, 43, 68 (D) 74 48 64
Yl B 1
) K @ o 30. If the uncle of the father of Rani is the
the d i
24, 4,8 11,22 25 7 grandzon of the fa er of Anop an J’u:-mp iz
—_— the only son of his father, them what iz the
(&) 28 (B} 53 relation of Anup with Rani ?
{C) 26 —HB50 (A) Maternal uncle
25. YXZXWYWVXV 2" 2 (B) Great-grandfather
LT W By VW {5 CGrapdlather
LI SR (I WU (D} Tnele

e
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31. When 12 + 10 = 1205, 11 + & = 8Bf, then

16+ 15=17
(A 1025 B} 130
() 2405 ) 105
52, If TRAIN is coded as WUDLG, how is the
word BUS coded ?
(4] EXV By VXE
L_jﬂ}fﬂﬂ (D)} DWU
33. In a certain code, MATION is written a=
ANITNO. In that code, which word will be
written as KROFME ¢
___{AY"REFORM (Rl FROMRE
() FPORMER I ROMFER
34. Intihe following question

‘A" means ‘bigger than’,
‘0" meane ‘emaller than',

‘0" menns s equal 1o,
& mesns

chli; LEEB ‘finu-t equal £o’.

- IMB and BE&C, then
(AY AAD

(Bl EBmD
Gy DAC Dy DRLC

fHrection : n gquestions no. 35 to 37, find the
missing number in the number pallern.

.

(B}
(D

512
412

i) 512
(C) 312 .

36,

27.

35,

39,

268 (290 210

2185 (7). 166
(A) 26 By 29

"—\_\_\_1
(C) 42 25

8 i b MR

& o 25

12 2 )

J\.,_W (B} 20

Cy 24 oy 19
If Twalk at 4 km an hour from my hoose,
I miss the bus by 7 minutes and if T walk at
6 km am honr, T reach the bus-stop B minoates
too carly. How far is the bus-stop ¥
(A) 7-; km (B) 8 km
(C) 14km D 7 km
If ASHA equals 79, then
VINAYBHUUSHAN =7
(A) 144 {B) 130
(Cy 211 (D) 200
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If in a certain code, ADVENTURE is coded as
BEFYISZBAN, how is COUNTHY coded in that

ende ?

(A} EQWPVTA T IBr-BNTMEGX

(C} DFVOUSZ M) DEGXRYXEF

41. If PRESENTATION iz written as
REPSENTATION, how can

COMMENDATION be written in that code ?
(A} IONEMCOMMIDAT

(B) DATTIONENCOMM

{C] NCOMEMNDATION

T OMCMENDATION

=
If MATCH is coded as NCWGM and BOX as
A, then which of the following ia coded as
OQWIGUVS 7

(4) NOTFBOFE - (B) MOEEBOOT

(2} NOTEBOOK (0} NOTEBOER

43.  If BTOP is coded as 19 20 15 16, how can we

code the word POTS ?

{A) 16 15 20 18

Bl
=y

(il

16 156 19 20
15 16 20 18

(D) 19 2015 1§

Dvirections : In guestivns no. 44 and 45, fun
statements are given, followed by two conclusions 1 |
and II. You have fo consider the siotements to b
true, epen if ey seem fo be of oorignce from
commonly known focte. You have to decide which of
thae griven corclusions, o any, followy from the given
statemenis

44, Stolements -

1. Science teachers do notl nse plastic b

2. FPlastic bags are oot osed by som
Enginesre.

Conclusions -
L. All Soence teachers are Enpinesrs.

II. Al Engineers do nol use plastic bags.

{A)  Both conclusions T and I follow
3]
{C)

(D

Meither conchesaon T ner I follows
Omily conclusion 1 follows
Omnly conclusion IT follows

Slelernnts

1. BSome eats are kittene
2. All dogs ore killens.
Conelusions =

I. Bome cats are dogs.

II. Some dogs are cats.

[A)
(B)
(C)
(L

Neither eonclusion 1 nore 11 follows
Both conclusions [ and I follow
COnly conclusion I follows

Croly conclusion I follews

[
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| SEAL |

46. A shecl of paper has been folded as shown by

47.

the question figure. You have to figure out
[rom amongst the four answer figures how it
will appesr when opened

GQuestion figure :

48,

Which answer figure mmpleies the form in
the question Ggure ?

Question [Igure :

a-"'l -\-“'h.:- -
Answer figures :
s o ey
J L =L |
e P e
(Al (H} (C) (1)) ! o R o

Which of the answer figures is exactly the
mirror image of the question fimere il 2 mirror
ig placed on the line MN 7

44,

|
From the answer figures, find oul the figure
pattern embedded in the question figure.

Guestion figure : Question figure :
- I
AN Answer ffoures -
Answer figures
! L\ | L Hl 1Y P1H
i (B (C (D) (A (B (C) Dy

g
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90. A word is represcnled by only one scl of

numbers as given in any one of the
alternatives, The sets of numbers given in the
alternatives are represented by two classes of
alphabets asin the two matrices given below,
The columng and rows of Matrix I are
numbered from 0 o 4 and that of Matrix IT
are numbered from 5 to 9. A letter [rom these
matrices can be represented first by its row
and mext by ils column, ] R
represented by 31, 76, ete. and ‘S can be
represented by 14, 99, ete. Similarly, you have
to identify the sel for the word NEST.

.n-t-a-lt\:-—-ﬂ
@ oo | [o [

H
|_"d.:=--c.uc'1.:-.

21, B4, 69, 31
(B) 12, 5699, 32
(C) 65, 68, 23, RY

(D) G8, 43, 13, 33

47.

45,

b

FOR VISUALLY HANDICAPPED
CANDIDATES ONLY

From the given allernatives, select the word
which can be formed wsing the letiers of the
given word,

PATERFAMILIAS
(A} FAMILY B) TERMINATE
{C} TREANSFEER ([}) PREFER

0, 1,2 3 4,5 6 7,8 9 are represented
by o, B. w, §, B, w, v, , v, b respectively, then

what iz the value of —0L _ e:-[_';+a_u o
a 1]

(A} PBw (B)Y én

i} mw I o

Find the missing combinaton of letlers
complete the alphabetlic seriea.

AE, BG, ? , GN, K5
(A) LT (B JL
(Ch FJ ) Dd

Select the related word from the give
alternatives,

LACONIC : VERBOSE - : LAUDATORY - ?

(A} DEFAMATORY
(B} SYMMETRY
{C) COMBINED

(D} . COMPLETENESS
Select the misu.aing number from the give

TEEPOTIAES, 7

£ 4, o
'
-|'.-'.|i y 12 -_ﬁ_ 3. '-'-' E|
(A) 18 (B) 45
() 80 B 70

=
"
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PART - B : GENERAL AWARENESS

Who will head the Jury of the Awards
Commitices of Padma, Ratna and other
highest honorary awards ?

{A) Home Minister

(B) Prime Minister of India
(C) Preasident of India

(D) Vice-President of India

Most important respansibilily of a Welfare
State is

{A) 1o check exploitation

(Bl to check encroachments on Fundamentsal
Rights

{C) lo preserve private property
{13} 1o promote religion of the people

Which
correct 7

of the following stalements are

L. Assam shores a border with Banpladesh
and Bhutan.

2. West Bengal $hores s border with
Ehulan and Mepal.

3. DMizoram shares a  border  with
Baungladesh and Myanmar,

(A] 2.8 By 13

) 1,23 i 12

Arrange the following Presidents in
chronological order as to who came first and
who came later ;

1 Fakhruddin Ali Ahmed

2. Zakir Hussain

d. Justice Hidayatullah

1 AT.J. Abdul Kalam

(A} 2,171,384 (B) 2 3 4.1
{0 O S (D) 2.3.1,.4

KR 2012/Page 14

B
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57.

BE.

(iross Domestic Product is the monetary
value of
(A) goods produced for the market onby
(B} gﬂnds_Pmdunud for the market and for
sell -;:nnaum—pﬁﬁ
Gy miock of gI:H:rdETII.d BErViCHs
(D) all final goods and segyvices produced in
a year N
Y
Which one of the following market structures
has 2 kinked demand curve 7

{AY Oligopoly

(B) Monopolistic compelition
(2] Perlect competition

(D) Monopoly

Which of the following poirs is nof correcl 7
AY XF Plan — (2007 — 2012)

(B} VI Plan — (1980 - 1985)

(Cy I Plan - (1951 — 1958)

(D I Plan — {1966 — 1971}

Which of the following institutions deals
with = credit to  Agriculturée and Raral
Development ¥

{A) SIDBI (B) ICICI

(C1 1IDEI (I NABARID)

As per the results of the 2011 Population
Census, which of the following groope
occnpies the three top places in respect of
Literacy 7

(A) Kerala, Lakshadweep, Mizoram

(B} M:izoram, Rerala, Tripura

(C} Kerala, Goa, West Bengal

1) Chandiparh, Goa, Kerala

District Judges in a Statc are appointed by
the

A)  Governor

{B) Chief Justice of High Court

()  Advocate-General of the State

(I} Council of Ministers of the State




61.

67.

Which of the following iz called the
‘roasroads of the Pacific® ?

{A) Hawaii {B) Ellice
{C) Tonga D) Fip

Which one of the following is an el of man
that disturbs the ecological balance ?

{A) Lumbering

(Bl Social foreatry
(2} Vanamahotsav
(I3 Afforestalion

Which one iz nof correctly matehed ?

{A) Glasgow —  (reat Britain
(B} Pittsburg — TLEAL

(Cy  Longroy — Russia

(I} Rhine —  Germany

How many States in India are coastal ?
(A} 9 B 10

(Y 1 (D) 8

International beundary between India and
Pakistan is demarcated by

(A) Radeliffe Line

{B) Maginot Line

(21  MchMahon Line

(D) Durand Line

Which one of the following is called the
amphibian in plant kinpdom 7

{A) Bryophyla {B) Pteridophyla
(1 Algae (1)) Fungi

Find the odd one ont.

(A) Tapeworm (B) Ringworm

(27 Hookworm (13} Guinea worm

National Institute of Nutrition iz a research
institute located in the State of

(&) Madhya Pradesh '

(B} TUllar Pradesh

(] Andhra Prodesh

(DM Himachal Pradesh

KH. 2014 Fage 16

(i1 8

T,

TL.

73.

Which onc of the following evenls are
chronologically correct ?

(AY Quit India Movement - Civil
Disobedience Movement — Cabinet
Mission Plan

(@) Civil Disobedience Movement — The
Cabinel Mission Plan — Quit India
Movernent

{2} Civil Disobedience Movement — Quil
Indiag Movement — The Cuabinet hizaion
Plam

D) The Cobinet Missmion Plam — Ciwvil
Dizobedience Movement — Guit India

Movement
Who founded the Vikramasila University ?
(A} Dharmapala (B) Mahipala
() Dhruwva (I} Devapala
Which of the following was nof known
during the Rigvedic period ?
(&) Varna aystem {caste)
(B)  Marriage system
(] Joint family system
(D)  Agriculture
Maitch the following :
Lhynasty Founder
a. Pallavas-  { 1. Danfidurg
b. Eialukjry + - 2 Vishnuvardhan
c. Rashirakutss] |3 Simhavichou -
d _Hoysalas . |4 Pulakesin
& b C d ;
(A 1 4 2 3
(R) 4 3 2 1
(C) 2 1 4 3
oy 3 4 1 2
Abul Fazl wrote

(A} Akbar-Nama

(B} Alomgir-Naomuo
(2 Bobur-Namao
(D) Humayun-Nomao




T4,

Th.

76.

7.

8.

Which data communication method is uwsed
for sending data in both directions at the
same Lime ¥

(A) Half duplex

(Bl Full duplex

() Super duplex

M Simplex

What does the acronym ISDN stand for ?
(A] Intelligent Services Digitel Network
(B} Integrated Services Data Network
{07 Imdian Standard Digital Nelwork
{1} Integrated Services Digital Network

Darkening property of photochromatic glass
iz dme to the presence of

{A] ailver nitrate

BY  silver chloride

(Q) silver bromide

(D) silwer oxide

Supersonic aircrafis discharge the following
gubsianes into the stratoesphere :

{A) CO, {BY H,
(C) NOy (0) SO

X
Chemical natore of laughing gas-is
(A) Nitrous odde
{B)  Sulphur disxide
(0} MNitric oxide
(13 Hydregen chioride
The difference hetween isolopes of an
glament is due to the presence of a different
number of
(&) electrome (Bl
{(}) protons {m

photons

neulrne

The increasing abudance of greenhonse gases
in the atmoaphere has led to the [bllowing
effcets exeapi

{A) Onoymen fertilization effect

(B} Carbon dioxide fertilisation affect

(Cy Global warming

(DD} Depletion of
stratosphere

peone  dayer in  Lhe

ER. 2012 Fage 18

A tree’s ape can be found by

{A) counting the number of branches

(B} no means

{0} measuring its height

{1 counting the nomber of annual rings

The lefl aortic arch is obaerved in
(A Reptiles (Bl Awes
(2 Armphibians (1Y Mamomals

Tendon connecta

(A} Bone to muoscle
(B} Muscle to muacle
(C) Bome to bone

(D)} Muscle to bone

Mercury is generally used in thermometers
because it has a

A high condoctivity

(B} high specific heat

(2} high Auidity

(13} high density

To an observer on the lunar surface, during
daytime, the sky will appear to be

(A} Oranpge (B} Black

{C) Light yellow (D) Blue

Which of the [llowing quantities is the
measure of Incria’ ¥

(A) Mass (B Wesht

(C} Velotity - (D)  Acceleration

The intenzity of o wave

[ollewe inverse sguare lawr

ie proportional to its amplitude,

iz proportional to the square of the
amplitnde.

(A) Omly 2 is true
(B} 1 and 2 are troe

R

() 1 and 2 are froc
Oy 2and 3 are (roe




a0,

a1.

In which of the following States, iz the
child-sex rotio the lowest as per the 2011
Census 7

{A) Chhattisgarh
{C) Haryana

{B) Bihar
(D) Punjab

Kaziranga National Park iz situated in
(&) Hsjasthan (B} Asaam
[0y Ddisha Dy Gujaral

Who iz the aunthor of the book ‘If Cricket ia
Relipion, Suchin is (fod" ?

(A} Vijed Sunthanam

(D) Shyam Balasnbramaniam

(C) Bath (A} and (B)

(D} Nome of the above

Which of the following stalemenls 15 mof
correct about Sunder Lal Bahuguna 7

(4} He started the ‘Chipko Movement’ to

create awaorencss of deforestation

By He was elected to Lok Sabha from

Littarkashi in Tttarakhand
{Cl
(L)

He iz an eminent environmenisalist

He was awarded Padma Bhushsn in
2005

The three conntries, in serial order, who won
the highest number of pold medals in the
Bejjing Olympics Games were

{A) China, Germany, Aunatralis

(Bl (hina, Germany, TT3A

(Cy China, USA, Russia

(D) China, USA, Germany

The fisst woman from India to be conferred
the Sainthood by Pope Benediet XV1 ia

(A) Sizter Alphonsa
(Bl Sister Mirmala
(G} Sister Deaouza

(1} Sister Madorana

KER. 2012 age 20
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-

104).

Which of the following fuels causes minimum
envirgpnmental pollution 7

(A} Hydrogen (B) Coal

(C) Diesel (I} Kerosene

Minamata epidemic that cawsed several
deaths inm Japan in 1965 occurred due o
pollution in water by
(A} Fiuoride

(C) Lead

(B} BDIT
oy Meroory

Oeone  affects human health by  causing
zovere pulmonary edema at a concentration

of

(A} 30 ppm
(C) 02 ppm

1R} 90 ppm
D} 03 ppm

The Brst resident to zail in a2 submarine in
India was

A) WV, {nrm

(B) M. Sanjeeva Reddy

(C} E.R. Narayanan

() Dr. APJ Abdul Ealam

Coolking vessels have wooden or bakelite
hondles becuse

{A) the handle must be strung

{B) the handle shoold be atirsctive

(1 wood and bakelite are bad eondectors of
heat

MY Mone of the ahowe

“Deshbandhn” is the title of
(A) B.C. Pal

{B) Eabindranath Tagore
() B.R Ambedlar

(D) CR. Das

Which . ome of the [ollowing
incorrect T

(A) Abhinav
Bindra
Sania Mirea
Jeey Milkha
Singh

Irfan Pathan

pairs ik
Bifle shooting

(B)
{C)

Badminton
olf

b)) Cricket




PART - C : QUANTITATIVE APTITUDE
101. A completes a pices of work in 4 days and B [105. The next term of the series
completes it in 6 day=z. I they both wark on it 1,26, 24, 120, ... 18
together, then the number of days required Lo

¥ (']
comyplele the same work is {A] 720 {(B] Ri0
(A) 3% days (B :ig daya () GO (D 216
2 3

f 108. The greatest numhber of 5 digita to be added
() FLE iy am 22 days lo 8321, so that the sum will he exuctly
2 2 divisible by 15 20, 24, 27, 32 and 36 is

(A 59779 (B) 99379
102, The length of the side of a aquare is 14 em.

Find out the ratio of the radii of the inscribed {C) 99860 (DY 99679
and circumscribed cirele of the sguare,
107. A and B invest in a business in the ratia
(A) 2 :3 (B) 2:1 5 : 4 If 10% of the total profit ges to

= , . charity and A’s profit share is ¥ 7,500, then
Lt~ ®1-32 the total profit is

{(A) T 12000 (B} T 15000
103. A buys an article listed at ¥ 1200 and Fets

sucecssive discounts of 10% and 20%. Jla (CY T T 500 My T 10,000
spends 10% of his cost price on transport. Al
whal price should he sell the article to earn & 108. If I3 = #7239 the valie of
profit of 15% ¥ :

416 k

(&) T 1125 - (B) % 1100 53 —212 — J32 + Ja0
Gy T 1153075 (I ¥ 109295 (A 1-414 B L7as
) 4899 (D) 2351

14. The rutio of milk and water in oo kp oof o

= AT T : =
e s T quantity of Wates that 109. The remainder, when 17%7 + 2697 ;o drvided

must be added to make the ratio 7 - 6 is by 23, ie

(A} & kg (B) 12 kg (A} 17 (B) 29

(€) 15 kg @) 10 ke S @ 1
g SPACE FOR ROUGH WORK




110. A motor car goes to a place at = speed of

111.

112.

113.

20 km/Mr and returns from there at 2 speed
of 30 km/hr The average speed (in km/hr) of
the car in the entirec journey is

(A) 24 B)

(L)

22-5

(S 26 25

A man invests an amount of T 15,860 in the
names of his three sons A, B and C iz such a
way that they get the sume amount after 2.

114. The average age of a growp of 30 bove is

12 years. When 2 new boys join them, the

- 1, .
average increases hy 5 vear. What iz the

average age (in vears) of the two new boye 7

(A) 14 (B} 18

) 12 (13

115. Average of two numberz iz 7-5 and Buare
3 and 4 years respectively. If the rate of oot of their product is 6. What are the
simple inlerest is 5%, then the ratic of nomheps 7
amounts invested in the name of A, B and C
is (A 10 and 5 By 12and 3
(&) G4 o8 (B} B:%:4 () 13 and 2 (M Y9andB
{(C) 4:3:6 {0 4:5:-8
. et 116. The profit earned by a shopkeaper by selling
HEE_E*";:{"- the value of an article al a gain of 8% is T 28 more than
- 3 : when he sells it at a loss of §%. The cost Price
o 2R i of the artiele is
b B 165
(A) 40 () 47 {A) (B) T 165
¥ 8
(£ TIT0 Dy T 190
© s @ =
8
J3 117. Krishna has 12 orunges with him. He sells x
If == o ? then the value of of them at a profit of 10% and remeining at
e a loss of 10%. Te gains 5% on the whole
J1+x + y1-x will be outlay. The value of x is
(A 3 (B 2 (4) 8 (B} 10
€ — © 243 © 7 o s
3
: SPACE FOR ROUGH WORK
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118 If x* + v} =35 and x + y = 5, the valee [123. The length of the portion of the straight line
151 Bx + 15y = 120 intercepted hetween the axes
x ¥
) : (A} 16 units (B} 17 units
i 3 g
W 2 ® < (C) 14 units (D) 15 units
a3
T o 2
T ol 124, I ix + 1) wnd (x - 3} be the factors of
¥ + (2 + 1x® — (b — 2ix — 6, then the values
2 2 of a and b will be
VI8, i e = z’ 1. Wliva
br+cr z¥ax’ axtby (&) 5 and 3 B 3 and 7T
the value of —— + b ¥ i £ TR e SHEE e X
a+x b+w C+E
(A -1 (B} —2
© -1 o 2 125. If x is real and x* + ;li- = 119, then the
ST .
120. The wvolues of oosnd b o > 0, b < ) for e o oy =
which 8x7 — ax® + 54x + b be a perfect cube T e
m - — — - —
+
(A) a=18 b=-27 o B S
(B} ._E—m = __9 o T 8§ . o
i} a= I-ET h=-—4
(D) a=36 b=-27 126. M a= V2 +1 b= -.E—l,thantheva]ue
121. If 3 15 1he centooid and AT be g median 1
with length 12 cm of A ABC, then the value a+l h+1
of Alz is
tA) 1D em {B) 6cm i < (Ei
{C) 4cm (B 8 ecm =) 5 Iy 3
182, ABC 1 a right-anglied triangle. AD 1is T
perpendicular to the hypotennze BO. IF ]_‘..5‘?.'-._\\1551 =3+ 2-.,."2_, then the value of
AC =2 AR then the value of BD 15 A S S > L
B
ay 2% ke L
4 a
= BC o BC _ ;[A:]__z‘.ﬂul (By 212
2 3 (C} 192 (o} 240
ol =N R = SPACE FOR ROUGH WORK ;
e = Ji) ' o u% 4{}.
- TR e e Df\ i Q__J
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128,

129,

130,

131.

The perimeter of a rhombuos is 146 cm and
one of its diagemals iz 65 cm. The other
diagonal iz

(A} 48 cm (Bl T2 em

(C} 92 em Dy 78 em

ABCTY i a cyclic guadrilateral. Sides AB and
DC, when produced meet at the poiol P and

gides AD snd BC, when produced meet at |

the point Q. If = ADC = BE” and

2 BPC = 40°, then ~ CQD is equal to

(A) 55° (B) 85°

(Cy 30° Dy 40°

In a rght-angled trangle ABC, AR = 2-5 cm,
ens B = (05, 2 ACEB = 90", The length of side

AC, in cm, is

y 25 B 2./
W B 8
- 5 =
(C) 543 I E-“d
i mi-]:i,thenth&m]u&nf B i
3 L+eotb
b 4
A Bl
{A) = 1B} =
7 2
Il B: =
(G 5 {m 7

The waloe of & [0F < 8 < 90"] for whick

cos B e 0 P
l-sm0 1+zmnd
{AY 45°
B a0
LI -

(D) Mone of thgse

133,

134.

135.

136,

137.

138.

In A ABC, AD is drawn perpendicular from
A on BC. If AD? = BD . CD, then £ BAC is

(A o0? By 800
{0 (D) 45°

ABC 15 a lnuangle. The internal bisector of
the angles ~ A, ~ B apd £ C mtersect the
circumecircle at X, Y and % respectively. If
Z A = B0°, # OZY = 30°, then .~ BYZ. will he

(Ay 35° (B) 3z0°
() 45° (D) 55"

I a circle with radiug of 10 cm has iwo
parallel chords 16 cm amd 12 cmoand they
are ot the same side of the ccotre of the
circle, then the distance between the two
parallel chords iz

(AT & cm (Bl S cm

(LY 2cm (D) 3 em

Two circles of radii & om and 2 em
respectively fouch each other externally at
the point A. PQ is the direcl common
tangent of those two circles of centres Oy
and Q, respeclively. Then length of PQ is
equal to

(A] 4 em {B} Rem

() 2em (Y 3 cm

0 ia the orthocenire of the iranple ABC. If
2 B0 = 1207, then . BALD I=

(AT 135" (B} 90"

(= 1507 (B 6807

Circomcentre of A ABC 15 0. If ~ BAC = 857,
£ BOA = 807, then ~ OAC is

(Al  BO® (B} Th°

(C)  BO° (Y - 30°

SPACE FOR ROUGH WORK




128, I cosf + see 0 = 43, then the value of [145. A pole broken by fhe storm of wind and fts

cos® @ + sec” B ia top atruck the ground at an angle of 30° and
at a distance of 20 m from the fool of the
i e ® 3 pole. The height of the pole before it was
c) o (o} 1 broken was
140. If for all real values of o, (A 6043 m (B 10043
x = cos® o = sin® «, then the ramge in which
% lies 15 o
13 1 c En-..'rﬂ m {In ﬂ I
-———___@_‘.—'ﬂxﬂl B = =x=2 3
16 b
g 3 13 Directions : Percenlage of the condidates enrolled
() a3 =XIS 1 (D) g %% T in seven different schools for the CBSE 10\

examinalivn and condidoles who passed  the
exgmination is given by the follvwing pie-graph.
Htudy the graph and answer questions no, 146 — 150

Candidates Enrolled = 8550

141. The maximum value of 24 2in 8 & T cog B8
T

[A] 24 (B} 25
. 7 (I - 17

142, In A ABC, £ A is a right angle and AD is
perpendicular to RC. If AD = 4 ¢m,

II.-f E"m BC = 12 cm, then the walue of (cot B + eot )
i {iE

b T
Fofn_ W ¢ s

3
2
Mm} 5 D) 2

143. If sec B + tan @ = 2, then sec 8 is cqual to

oy, - 3 B
3 LA = By —
Fk".."‘ﬁ — 2 4
T T
e = @ =
) 4 : 2
144, If tap 20.tan 46 = 1, then the wvalue of
tan 36 i
1
[A) ¥ 2
o (B}
(C} 0 . D) 1
1 J
B, ol .-DI_ u. U.F CE I:'EIH ROWGH WORK
'."_P_f‘%"\-q: M P.'ll - tle ik g -
£ o = 55 | —ie L :\.E 'lrh S _—_.L-iliii':'lq_‘




146,

147,

148.

149,

150,

What is the ratio of candidates passed to the
candidates enrolled from the school & 7

Ay 6:7 Bl T8

185 S e ) 11:6

What percentage of candidstes passged 10 the
candidates enrolled for the schools B and ©
together 7

(A) TE
(Cy &0

(B} &R0

Dy 72

Which school has the highest percentape
of candidates passed Lo the candidates

enrolled 7
Ay (B F
cy B my C

The number of candidates passed from the
echools I and A topether exceeds the
number of candidates corolled from
schools E and C together by

the

(A)
(C)

209 (B} 439

259 oy 373

What percentage of candidaies passed in the
examination f[rom  achool B out of total
number of candidates enrolled from the same
school 7

EA) 75 (B) a0

iy &0 M) &6

FOR VISUALLY HANDICAPPED
CANDIDATES ONLY

148. A lmwek covers 3 distanee of 600 meters in

147

148,

149,

150,

I minule whersas a hus eovers o distance of
32 km in 40 minutes. The ratio of their
speeds 18
[AY 3:-4
e

(B}
(o

4 -5
A |

The compound interest on a certain sum for
2 years ia ¥ 4,100 and the simple inlerest is
T 4,000, Then the rate of interest iz

(A} 6% B} 3%

C} 4% D) B

A shopkeeper bought 24 bags for T 240, What
will be his profit if ke sells them at T 15 each ¥

(A} T 120 By ¥ 100
() < 180 (1) T 140

If a sgmare i3 inscribed in a circle whose
area is 314 sg. cm, then the length of each
gide of the square is

[(3iven © = 3-14]

(A1 10 em {(B) 102 cm
(3) 542 em (D} 2042 cm

In a hag, there are seme 20-Rupees, 10-Rupees
and 5-Enpess noles in the ratio 2 : 3 - 4 IF
there are in all T 360 in the bag, how many
Z0-Rupees notes are there ?

(A} 4 (B) 8

cy 1= () 16

SPACE FOR ROLUGH WORK




PART - D : ENGLISH COMPREHENSION

Directions : In questionz no. 151 fo 155, some parts of the senfences have errors and some haove none. Find
out which part of a sentence has an error and blacken the reclangle [ M | corresponding fo the appropricte
letter (A, B, ), If a zentence iz free from error, blacken the rectongle [ W] corresponding fo (D) in the
Anzirar Sheet.

151. Some of the people [ were atanding on the atreet /
(A (B}
watch cricket match, while others were sitting. / No error.
{Ch - (D

152. T:am plad [/ that the mews [ are good. / Mo erTor.

“(A) S (C) o)

153. The _iudgz: mwd 'L]:u: actuspd [ to gec i he would / read English. / No error.
B B T ((o4) (1)

154. I i].uw neither visited / or intend / tn vtmt. h:]l ﬂtat!urua. £ Mo error.

(A} TR e e e ()
155. Kamala wmfenur than Geetha ! in her studies. / No error.
W m] W, T () (D)

Diirecfions ;' In guestions no. 156 fo 160, sentences are given wih blanks o be filled in with aon
appropricle wornt{s), Fowre allernndives ore spggesied for ench question. Choose e correct allemalioe oul of
the four and indicate it &y blackening the appropriate rectongle (88 | in the Answer Sheet.

166. I doo’t think I can with him any |158. (.V. Haman was an scientist
Iuﬁg?r. o 5 . (A) itinerant (B immanent
{A] put ap (B} put ouat {8 crﬁ:e;_ DY imminent
(C)  pul on (¥ put off

150. He mnever drinks and drives. He i= . too
Lo do something silly like that.

1I57. The = of many temples in South :
and Central India sorpasses even that of the (Al sensual (B} sensible =
Taj MEJ:E;I (Y}  eenEuous (1)) zensitiee__
T - —
f
AL NPT RN 160 On account of an accident, the traffic on the
{B) goodneas G.T. Road was .
{C) magnificence (A)  dislocaled (B) distorted
(D) look (C) _disturbed = (I} disrupted

o
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Directivns = In guestions no. 181 to 165, out of the
four clternatives, choose the one which best expresses
the mecning of the given word and mark it in the
Angwer Sheet.
161. Marcissism
.

A selfadmirtion

B rude behavioar

#0) nunpleasant behaviour

) selfcondemnation

.lﬂ- Camouflage

{AJ demonztrate {B} fabric

(T disguise (D) cover
163, Yearn

(AY  eonfront (Bl crave

(C) deny {I) accept
164. Penszive

{A) contemplative (B} precise

() reluctant (D) unhappy
165. Impecable ’

—H4)  upnght {B} harmless

(C) _inoffensive (1)) flawless

Directions : In questions no. 166 to 170, choose the
word opposile in_meaning fo the given word and
mark i-8 the Answer Sheet.

166. Disparage

{A) comfort (B) connect

(C) _ compliment— (D) convince
167. Garruloas

(A) grucsume {B] creative

(C)  quiet (D) exagperated
168. Aupment

{A) supplement (B) decrease

. () increase (D) defend

168, - Amateurish

(4) skilled (B} professional

{C)} seasoned (D) trained
170. Igneminious

(A1 honoorable (Bl clever

{C) waluable {Il  desirable

ER. 201 Page 35

Directions : In questions no. ITI te 175, four
alternotives are given for the idiom/phrose
underfined. Choose the aliernative which best
expresses the mecning of the idiom/phrase and
mark il in the Answer Sheet.

171. A good sportsman cannot afford te have a it
of the blues before the game.

{A)
{B)
(8]
(D)

slimulants
enitertainment
., steroids or drugs

de I-E-T- S ETON

His utopian idea was_entertaining butl not
accaptable,

(A} classic idea

B  intellipent iden

{C) uwnworthy idea .

- 'ijﬁ:;gtinar}r idea

172.

173.

He has the habit of getfing inko & TOW over
trivial matters. =
seeking the help

{B) picking np a fght
_rfﬂT__E_eT:E;g_u_right path

(D} giving unwantad advice

(A)

174. A small fry
(Ay little
{B) important
)
in) weak

unimportant

175. Do net loze your head in public.
{A) be embarrassed

LB]
(C) pgei angry

(D} get a headache

shave your hair




Directions * In questions no. 178 fo 180, a part of
the senfence s uonderlined. Below ore pgiven
alternatives to the underlined part ot {4), (B} and (C)
whick may improve the sentence. Chovse the correct
alternative. In cese no improvemen{ is needed, your
answer i (0.

176. John ie wearing hiz jacket ns it is getting
very cold.
{A) petting on
(B} pulting on
(C) taking on
(I} No improvement

177. I worked in this office since Z005.
(A) ‘Thave worked
{B] hnave been working

() am working

(D) No improvement

178. The host offercd me tea but I denied it.
{A) gaid no
B rejected
(2} refosed

D) Ne improvemnent

179, (Can any spirilually dead man be 50 a2 to have

no love for hia native counlry ?

{A) Can any man be so spiritually dead as
to have no love for his native country ?

(B} Can any native man be so dead as to
have no love for his apiritual country ?

{C) Can any dead oxan be so as to have no
spiritual love for his native eoumiry ?

M Mo improvement
1580. How can anyvone sympathize with you when
what you gay i hardly gullible ¥
(A) credible
(B} incredible
(C} credulous

D} Mo improvement
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Directione @ In gueslions no. IRT to 1585, out of the
four alternatives, choose the one which can be
substituded for the piven words | senicites.

181. A person eighty years nof age
0 L JII_ = 1
(A} Oectogenarian

(B} Sexopenarian
(] Saptngcnuri_ﬂf:.

(I Nnnugur-mn_'nﬁ -

—_—

182, Too much official formality

CA) A Diplomacy c o
(B} Antncracy
(C} Bureaucracy

(D) Red-tapism
BT

183. Enclosure for hirds
(A} Leur
(B) Aviary

(C) Pen
{0} MNest

184, That cannot be congquered
{A) Intangible
(B} Inevitable
(2} Invincible
{12} Invulnerable

185. Hard to pleasc
{A) Fastidious
(B] Epicarean
(C) Loguacions
(D} Stabborn




cctions : In questions no. 186 to 190, there are
different words out of whick one is enrrectly

" ¢ Find the correctly spelt word and indicate it by

kening the appropricte rectangle [ wm] in the
Arzroer Sheet.

187.

1BH,

1},
-

ER.

(4) pequisision
(Bl aclkuisition
{C)  acquissition
(10}

acquisTian

{A)

(B}
()

(D)

{.!"-:I_ mnnu:d:_'!r -
4 53]
(Cl

discrapancy
_ hieararchy

W, =t

reffarence
retliance
OCCUTENGE

FECUTTENCE

[4) disﬂripﬁva_._ .

{B) receptive
S o

(C) coopperative

(D) comppetitive
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Directions » In guestions 191 to 200, you hauve tro
brief possages with 5 gquestions following each
paseage, Read the pussoges carefully and choose the
best agnsioer fo each guestion out of the four
alternatives and mark i in the Answer-Sheet.

Passage 1 (191 -183)

Tinlike the masses, intellectuals have a taste
EuF rajponality and an interest in facts. Their
l::l"l.l'IEEII h:ﬂ:_nf mind makes. 't.hem :remsmnt
Ln t.'ha lu.m_f pmpaganda that - works g0 well
on the majority. Intellectuals are the lkind of

—

people who demand evidenc: and are

FLALs e T————— -—

ﬂhmku:l by !:}g‘lc-.nl :nmnmstenme-s ami

e

o

fallacies. Thu,! regard uver—samphﬁr:.auﬂn an
—_—

e ——

the uﬁgmal sin ut‘thu: mind and have no use
_'__d__'--\_ —

Fnr the slopans, the ungualified assertions

e — e = _._,_.——i—'—'_'—-_,. I
a.ud gweeping generalizations, which are the
g | e el e L Sy

- e

propagandist’s stock-in- -trade.

Intellectuals are the kind of people wh'?

~ . E
{A) look for evidence in support of logical

inconsistencies and fallacies

{B) accept only those Lhinge which =sre

logically consistent and well supported

by evidence

@ demand  logical incomsistencies and
-

~ fallacies .

(D) ignore faulty logic and wrong beliefz

=



192. TFallacies’ means
(4] illogical arguments
(B} inconsistencies
» false evidence

(D false belisfs

192. A trail which intellectuals do not possess is

@ U.";I:,l:-ﬁilllpiiﬁ.ﬂﬂﬁﬂﬂ j = [
it

(B) logical thinking

(€ eritical thinking

(D) rationality

194. The first sentence of.the passage suggests

that = o e

" {A) intellectnals behave like individuals, not

Jike members of & crowd < ’

Eﬂ}___alL _individuals have a taste for

-

{B) individunals are intellectuals

rationality and an interest in feels

(D) groupe congist of intellectuals

195. The majority of peoplc
. E—Work well with intellectuals
{B) possess a critical habit of mind
(C} resiat propaganda

(D1 dno not possess a crilicsl habit of mind
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Passage 11 (196 — 200)

Unquestionably, a literary life is for the most
part an unhappy life, because, if you have

genius, you must suffer the penalty of

genius; wnd if you have only talent, there.are

B0 ANy CATES +:|.11|:’: wn:m'[EE: inr:idaniatl Lo the

circumsiances nI' T crt' letters, as 1o make

life mumjmghr !I:I:LLEL-mm-E Eemdes-'l,hc panga

-Jf_ u-um}_mmtlnn au-li the

-—

dlbupp:}mtmenL wh:d1 a true oxtish {eels at

eonlinuens

]:_1,-5. mab:.ht} L re'.resl hlmw]i' there i LT:E
:_,-.E:r-rflcum_ug d1fﬁm]t_-,.- of gaining the pu.bhl;.

car. Young \'-:'IiPTq are buoyed op by the
hu[n‘- and 1,]14: t:.-ea:i:et‘ that Lhc-.:,r 1'|*||1.-|L=h nn]_1, 1o

thpow th thut poem_at_ t.h:: world's feet to geb

back in return the lsurel-crown; that they

"~~~ have only lo push that novel into print lo be

acknowledged at once as & new light in
-

Iitmnn:p._"!f-qu £aN TevVer CONVITICE 8 young
5 L ke

authnr that the editors of unaga.'xmaﬁ and the
publmhm-s nf books wre a pran:h:.al body-of

men, whn- are_by m:n mem I‘runtumil:r
T

anxious about placing the hest ].r_t.e:a.fllre

before the public. Nay, that for the mnst

hmkem__ who cgnduct

=

1,]11..u- bHH]nEEE gn the hardesi linea of a

_Ea.t‘l.._Lh_ey_ are mure

I'mr’r antl 1G86 dccount. Eu_l__wﬁpnmn[, _','U{Lr

book t‘atrl:.- lamwm are ooly
.
beginning. You have to to run_ IJ:& g==11.11".|_'t.].i:l.--tJ-E..,_h

ey o

the tntu:;s 'Tn a inu.ng: m:ﬂ'mr _aguin, Lhiz.a
:IEE_._L_':' be n temblq. unleﬂ' ‘-\-‘l'm_n you are a_

e Lt e e e .

little older, you will find t.hat. eriticism w

——

- - F




much more scrious than the byc-play of |197. The writers advice to the literary artisis

cawns in a dreos, when they beat about the regarding criticism of their work is lo

ring the viclim wilh bladders slung at the (A} withdraw it

end of long poles. A time comes in the life of ;
- intain perfecl silence

every auther when he regurds crilica as ﬂmﬂm R

comical rather than [ormidable; and pgoes i3} defend it publicly

his way unheeding. But there are sensilive (D} protest against it

soula that yield under the chastissment, :

and, perhaps, after suffering much silent

torture, sbandon the profession of the pen 198, It is an cstablished fact thal our ]H.F._I'EIJ.'_'E

for ever. Keats, perhaps, is ibe suddest artists ure
example of a fine spirit hounded to death by (A) unhappy
pavage crticism; because, whatever his @? N iEE
biographers may aver, that furious attack of -T{E-‘-J' e

Gifford and Terry undeubtedly expedited his
death. Butl no dowbt there are hundreds who

(D} talented

suffer keenly from hostile and pnecrepulous
eriticism; and Wwho have To0 bear  that 199, e
suffering in silence, becanse it 18 a cardinal
(A) candid

principle in literatore that the most unwise
thing in the world [or an anthor is to take @\uﬂnn}r
public notice of criticism in the way of
defending  himself. Silente iz the only
aafepuard, ps it is the only dipnified proteat . D) sceptical

() wover-conlident

agninet insult and offence.

: ; ; agg. The literary publishers publish only what is
196. The writers atlitude towards the literary

eritica is of @mﬂ
[A) soorm 5 [i'l\}\_,]:l.ﬂndj'

. respect (€} best

{C] reversrme
{D) saleable

Dy indiffercnoe
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